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(1) 5x=1; (2) 3+a=a+3;
(3) 2=z x5 (4) 2y+1=3;
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(1) 0.52=3; (2) z—5;
(3) z=2y+1; (4) z*=9;
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3. TR BEEBESANE, ——REFEFHz, BE
AR EBIR.
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(1) 5x=65; (2) 7y=105;
(3) 9x=0; (4) —14x=56;
_ - —1.9, 2,_8
(5) —0.4y=-1.2; (&) 31: 5"
2. BTHFE:
(1) 3x+15=36; (2) 92=6x—15;
(3) 1.59y+9=7.5; (4) 23x—42=16x;
— 9.5 —27: 2 4191
(5) 2x=2.5-3x; (6) 51 12 5-'1-'.
3. RTHTE:
(1) z+3=7-3x; (2) 3y+4=5y—6;
(3) Tx—-1=4x-7; (4) 15-113z=97x + 853

(5) 4-1.5z=1-2z;
(6) 0.3+0.11y=3+0.02y.
4. BTIHIHE:
(1) 32-(5x-2)=2;
(2) 2(3-4x)=5(4-3x);
(3) 4(y-1)=2(8y+2);
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